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RGSL1 efficiency in the routine phase: Revs 3001 to 3800

Scheduled Science : 99446 ks
Performed Science : 96897 ks

180000 180000
©
©
% o Q (2]
(=] < (O] =
(] o = [ o
160000 o & 3 = £+ 160000
o < & 2 5
= 0 ° c =
< i § IS o
(@) [
140000 +F K ——=mt [ i1 — T r— ——1— — ] iw 140000
| 1 L . | | 1 I I | 1, . 1 | I
| 1 1 | | I " Il | b I ] | | ||| .
1y i | 1 ’ I | 1 | |I'| , le I| ] 1 1 ! . ol [ [ |-| ! |
120000 y i ) | AR i 1 2 | iR l WAl .I' 'l _II__.. [- | | L |_| | r| £RH ]i:.. TR HuER 1El II AR el iR 120000
| | | | | | ' | ‘ | | . | d(y I _‘ |
. r H (Il | | | | [
100000 - - | - 100000
1
1
80000 - | i - 80000
60000 - i - 60000
40000 - i - 40000
20000 - - 20000
0 T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 0

& 2y S e, ST o e e BRSSP e I e, AT o Tt W Ut T AR St vl B T R R s o
AR SRS SN PRSI SR DM S S P g SO SR @ D WD DS D WS A D
B MRS Sl SIS PSP AR T U Ty T S L LT R AR G SN S S i P il S L ol S P A (L P Sl

REV #
Performed Science I Solar Flares G/S Problem I Inst Problem I Support other S/C [l S/C Problem Science Win






